Name Date

1. Subtract.
a. 3121 b, 32_23_
4 3 3 4
c. 6s—4s= d. 6=—43=
e. 52_41_ f.82_332=
g. 182 -57Z= h, 172-232=
4 8 5 8

Y-NC-SA This work is licensed under a
Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

© 2014 Common Core, Inc. Some rights reserved. commoncore.org




2. Tony wrote the following:

7:-33=4
4 4

NI
& w

Is Tony’s statement correct? Draw a number line to support your answer.

3. Ms. Sanger blended 82ga|lons of iced tea with some lemonade for a picnic. If there were 13 % gallons of

the beverage, how many gallons of lemonade did she use?

4. A carpenter has 10 % feet of wooden plank. He cuts off 4i feet to replace the slat of a deck and 3 % feet to

repair a bannister. He uses the rest of the plank to fix a stair. How many feet of wood does the carpenter
use to fix the stair?
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Answer Key

., 1 2. Yes; number line drawn correctly
12
11 13
b, — 3.0 4Bl
12 20
19 4, z
C. 1% 212ft
17
d 1—
20
20
e. —
21
20
f. 4—
21
7
g. 125
23
142
40
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